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char c="z";

int k=7;

c-=k;

k=c% (k+60)+20;

printf ("%d,%c\n",c,k);
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#include<stdio.h>

int main ()

{
char c;
printf ("Please input a character,");
printf ("and the program ocutputs its ASCII code.\n");
scanf ("sc", &c);
printf ("The ASCII code of '"%$c¢' is $d.\n",c,c);
return 0;

}
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Please input a character,and the program outputs its ASCII code.
ad
The ASCITI code of 'a' is 97.
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#include<stdio.h>
int main ()
{
int a,b,c,d, sum;
double average;
printf ("The program gets four integers,");
printf ("and outputs their's sum and average.\n");
printf ("Number 1/4: ");
scanf ("sd", &a);
printf ("Number 2/4: ");
scanf ("sd", &b) ;
printf ("Number 3/4: ");
scanf ("sd", &C) ;
printf ("Number 4/4: ");
scanf ("sd", &d) ;
sum=a+b+c+d;
average= (double) sum/ (double) 4;
printf ("sum=%d\n", sum) ;
printf ("average=%1f\n",average);
return 0;

}
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The program gets four integers,and outputs their's sum and average.

4.
sum=10

average=2.500000



